 EQ \f(4;5x+4)=\f(1;4) 
 EQ 5x+4=4·4 
 EQ 5x+4=16 
 EQ 5x=16-4 
 EQ 5x=12 
 EQ x=12:5 
 EQ x=2,4 
 EQ \f(4;5x)+4=\f(1;4) 
 EQ \f(4;5x)+4=0,25 
Отметим ОДЗ.

 EQ x≠0 \b(1) 
 EQ \f(4;5x)+4-0,25=0 
 EQ \f(4;5x)+3,75=0 
 EQ 3,75+\f(4;5x)=0 
 EQ \f(3,75·5x;5x)+\f(4;5x)=0 
 EQ \f(3,75·5x+4;5x)=0 
 EQ \f(18,75x+4;5x)=0 
 EQ \f(0,25\b(75x+16);5x)=0 
 EQ \f(75x+16;20x)=0 
Дробь обращается в нуль тогда, когда числитель равен нулю.

 EQ 75x+16=0 
 EQ 75x=-16 
 EQ x=\b(-16):75 
 EQ x=-\f(16;75) 
Произведем проверку ОДЗ.

 EQ x=-\f(16;75)  удовлетворяет ОДЗ.

 ответ:  EQ x=-\f(16;75) .

